1043

DISAPPEARING GAUGES

—ECONOMY STRAIGHT MOVING TYPE—

DISAPPEARING GAUGES

—REGULAR STRAIGHT MOVING TYPE—

DGF
100
60 63 Guide plate
N (Assembled by customer)
AT \
Q \\
5 | @ ‘
|
\ﬂ |
‘ T
‘ ‘ . L e
50 [©6] Lt;ﬁj ‘ | = jé
4 @@\ _ 36 MR
6—¢9 ST ‘
I
j | —— : o | I 200 2
8 o ] e E—
| = 28
Lﬁﬁ -
[oH-
I ‘ 2
’ |: oD
_H Y o
80 S
100
W Components
No. Name Quantity Remarks No. Name Quantity Remarks
@  |Pressing plate 1 S45C @  |Nut 1 M14
@  |Bracket 1 Equivalent to SS400 Hexagon socket head cap bolt 4 M8x20
®  |Link block 1 Equivalent to SS400 (@ |Hexagon socket head cap bolt 2 M12X20
@  |Slide plate 1 5450 Spring washer 4 M8
®  |Spring pin 1 #3X45 @ |Angle 1 Equivalent to SS400
® |Cylinder 1 AIRTAC @ |Angle 1 Equivalent to SS400
H Ho H1 Weight (kg) Catalog No. ST
220 90 25 11.2 50
270 115 45 13.5 100
DGF e
320 140 95 16.0 150
370 165 145 18.7 200
Catalog No. || ST ry -
Order - 7& Alterations (@ ? % — *
DGF 100 4
: ’ Alteration Code Spec.
naystoship |Quiotatic ) é
'ﬁl suotation = S | Change to SMC cylinder
P

B When using
- Use disappearing gauges "DGF" to the positioning of drawing die feed plate.
- Itis simple type without baseplate and it is necessary to apply lubrication oil when being used.
- The bolt holes on slide plate (@) is already tapped (Dimension H1) to facilitate the installation of
disappearing guauge.

DACG 110
25 100
50 ‘
2—M10 O & O
1 ——$< sl
e it Lo .
a e LT :;@/ e 7| 5| 8
Heed B
ol 4=yt
- o]
G Q&
30 65 2— 41073
M20XP2.5
24, 40 ‘ =
2 ‘ ! ! @] ﬂ
o Q i
i
= !
EComponents =
No. Name Quantity Remarks e ‘
(@ |Baseplate 1 |Equivalent to $S400 i 3 ‘
@ |Guide post 1 |S45C (HF induction hardening) ;% ‘
® |Guide bushing holder | 1 [Equivalent to SS400 § L
@ |0Qil-free guide bushing[ 2 |Copper alloy (Qil-free) T @/ ;
® |Cylinder 1 |AIRTAC @OU ‘
® |Link block 1 |ss400 ‘
@ |Flat washer 2 |M20 4 |
Nut 1 |M20 ‘
(@ |Hexagon socket head cap bolt[ 4 |M10 X 25 -
(0 |[Spring washer 4 |[M10 30
@ |Split pin 1 |¢45X40 4486
. Weight Catalog No Cylinder stroke ’Or der Catalog No. || ST
(kg) ’ ST DACG 150
340 6.7 100
390 7.1 DACG 150 iﬁﬂ . FUTT .
- paystoShip |JUIOTAtION
440 7.4 200 AuOtao
5B & o]
‘!‘\! Alterations DACG 150 — 8 P Price
Alteration Code Spec.

Cylinder change

S Change to SMC
cylinder

LOCATING COMPONENTS
FOR AUTOMOTIVE DIES

1044



